Nombres Décimaux (C)

Trouvez chaque somme.

0,8098 + 4,267 = 1524 +53 =
0,3217 + 1,331 = 0,446 + 4421 =
4676 +364,3 = 8247 + 3,573 =
2134 +0,4967 = 7816 + 629,9 =
107,1 + 6,059 = 0,9444 + 982,6 =
3,093 + 16,19 = 3,813 + 78,48 =
77,65 + 0,8046 = 2224 +3,717 =
3628 + 2,892 = 4629 +397,5 =
1,578 +243,5 = 6634 +0,2618 =
62,27 +0,4262 = 0,4124 + 700 =
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Nombres Décimaux (C) Solutions

Trouvez chaque somme.

0,8098 +4,267 = 35,0768 15,24 + 5,3 = 20,54

0,3217 + 1,331 = 1,6527 0,446 + 4421 = 4421,446
4676 + 364,3 = 5040,3 8247 + 3,573 = 8250,573
2134+ 0,4967 = 2134,4967 7816 + 629,9 = 8445,9
107,1 + 6,059 = 113,159 0,9444 + 982,6 = 983,5444
3,093 + 16,19 = 19,283 3,813 + 78,48 = 82,293
77,65 + 0,8046 = 78,4546 22,24 + 3,717 =25,957
3628 + 2,892 =3630,892 4629 + 397,5 = 5026,5
1,578 +243,5 = 245,078 6634 + 0,2618 = 6634,2618
62,27 +0,4262 = 62,6962 0,4124 + 700 = 700,4124
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